



Sugar-sweetened beverage consumption among Indigenous Australian children aged 0–3 years and association with sociodemographic, life circumstances and health factors

Katherine A Thurber^{1,*} , Johanna Long², Minette Salmon¹ , Adolfo G Cuevas³ and Raymond Lovett¹

¹National Centre for Epidemiology and Population Health, Research School of Population Health, Australian National University, 54 Mills Road, Acton, ACT 2602, Australia; ²Medical School, Australian National University, Acton, ACT, Australia; ³Department of Community Health, Tufts University, Medford, MA, USA

Submitted 11 December 2018; Final revision received 10 April 2019; Accepted 16 April 2019; First published online 28 August 2019

Abstract

Objective: To explore beverage intake and associations between sugar-sweetened beverage (SSB) intake and sociodemographic, life circumstances, health and well-being factors in a national cohort of Indigenous children.

Design: We calculated prevalence ratios for any SSB consumption across exposures, using multilevel Poisson regression (robust variance), adjusted for age group and remoteness. A key informant focus group contextualised these exploratory findings.

Setting: Diverse settings across Australia.

Participants: Families of Indigenous children aged 0–3 years, in the Longitudinal Study of Indigenous Children.

Results: Half (50.7 %, *n* 473/933) of children had ever consumed SSB at survey, increasing from 29.3 % of 0–12-month-olds to 65.7 % of 18–36-month-olds. SSB consumption prevalence was significantly lower in urban and regional *v.* remote areas, and in families experiencing socio-economic advantage (area-level advantage, caregiver employed, financial security), better life circumstances (caregiver social support, limited exposure to stressors) and caregiver well-being (non-smoking, social and emotional well-being, physical health). SSB consumption prevalence was significantly lower among those engaged with health services (adequate health-service access, regular prenatal check-ups), except SSB consumption prevalence was higher among those who received home visits from an Aboriginal Health Worker compared with no home visits. Key informants highlighted the role of water quality/safety on SSB consumption.

Conclusions: A substantial proportion of Indigenous children in this sample consumed SSB from an early age. Health provider information needs to be relevant to the context of families' lives. Health system strategies must be paired with upstream strategies, such as holistic support programmes for families, reducing racism and improving water quality.

Keywords

Sugar-sweetened beverages
Feeding behaviour
Indigenous health
Child health
Water quality

Nutrition in the first years of life is critical to early childhood health and development^(1–3). Australian Infant Feeding Guidelines recommend breast milk as the sole source of nutrition for children's first 6 months, where possible; breast-feeding of any duration benefits both the child and mother⁽⁴⁾. From age 6 months to 3 years, guidelines recommend slow introduction of water and other micronutrient-dense foods and drinks, alongside continued breast-feeding as long as the child and mother desire.

Guidelines recommend avoiding foods and drinks containing added sugar⁽⁴⁾.

Caregivers⁽⁵⁾ and health practitioners, including Aboriginal Health Workers (AHW)^(5–7), have expressed concerns about sugar-sweetened beverage (SSB) consumption by young Aboriginal and Torres Strait Islander children. SSB are high in sugar and contain limited, if any, nutritional value. A large body of research has demonstrated detrimental health impacts of SSB consumption

*Corresponding author: Email katherine.thurber@anu.edu.au

© The Authors 2019. This is an Open Access article, distributed under the terms of the Creative Commons Attribution licence (<http://creativecommons.org/licenses/by/4.0/>), which permits unrestricted re-use, distribution, and reproduction in any medium, provided the original work is properly cited.



including dental caries, obesity, hypertension, type 2 diabetes and CVD in children and adults^(8–14). Early exposure to SSB can also contribute to enduring preferences for sweet-tasting foods and beverages^(15–17).

There is a high prevalence of SSB consumption in Australia, and particularly high consumption prevalence and volume among Aboriginal and Torres Strait Islander peoples^(18–20). While the measurement approaches and populations have varied across studies, there is consistent localised and national quantitative evidence of high SSB intake by Aboriginal and Torres Strait Islander children in the first 3 years of life (Table 1)^(18,21–26). For example, data from the National Aboriginal and Torres Strait Islander Nutrition and Physical Activity Survey (NATSINPAS) indicated that 26.0 (95 % CI 13.5, 38.5) % of Aboriginal and Torres Strait Islander children aged 2–3 years had consumed cordial on the day prior to interview, compared with 10.3 (95 % CI 6.4, 14.2) % of non-Indigenous children in the Australian Health Survey^(18,21,22). The gap in consumption prevalence is narrower at older ages; data are not available for children less than 2 years of age.

Before colonisation, exclusive breast-feeding for at least 6 months, and extended breast-feeding with gradual introduction of micronutrient-dense foods, commonly occurred^(6,24,27–29). Colonisation disconnected Aboriginal and Torres Strait Islander people from their family, land, culture and traditional knowledge, and has contributed to ongoing trauma^(30,31). Colonial practices such as relocating Aboriginal and Torres Strait Islander people to missions, the provision of food rations and separating mothers from their children interrupted intergenerational knowledge transfer, contributing to the loss of knowledge about infant feeding practices^(5–7,29,32,33). Further, the colonisation of Australia led to persisting social, economic, health and structural inequities for Aboriginal and Torres Strait Islander peoples^(30,34). As a result, many Aboriginal and Torres Strait Islander families experience life circumstances, stressors or health conditions that may preclude adherence to child dietary recommendations^(5,31).

There is substantial potential for health gain through reducing SSB intake by young Aboriginal and Torres Strait Islander children, particularly given the disproportionate burden of obesity and dental caries experienced by this population⁽³⁵⁾. To inform policy that supports healthy feeding practices in Aboriginal and Torres Strait Islander families, it is important to understand the factors underlying SSB consumption in the first years of life⁽¹⁸⁾. Factors including low maternal education, financial insecurity, overcrowding, poor maternal physical or social and emotional well-being, exposure to stressors, culturally inappropriate advice and programmes, and inadequate social support may pose barriers to optimum infant feeding^(5,6,25,31,32,36,37). However, we lack quantitative evidence of the association between social, cultural and environmental factors and SSB intake in this population, nationally and across levels of remoteness⁽¹⁸⁾. The current exploratory

study aimed to: (i) quantify the prevalence of any SSB intake and the relationships between SSB intake and a range of sociodemographic, life circumstances, and health and well-being factors in a national cohort of Aboriginal and Torres Strait Islander children aged 0–3 years; and (ii) contextualise these quantitative findings by engaging with a group of Aboriginal and Torres Strait Islander key informants, to support a participatory approach to analysis.

Methods

Study design and participants

The present study analysed quantitative data from the Longitudinal Study of Indigenous Children (LSIC), an ongoing national study funded and managed by the Australian Government Department of Social Services. LSIC was designed through extensive consultation with Aboriginal and Torres Strait Islander peoples⁽³⁸⁾. Aboriginal and Torres Strait Islander children were recruited from eleven diverse sites across Australia using purposive sampling. These sites were chosen to reflect the diversity of environments in which Aboriginal and Torres Strait Islander children live⁽³⁹⁾. Two age cohorts of children were recruited to participate in the study: the B cohort (intended age 0.5–1.5 years) and the K cohort (intended age 3.5–4.5 years); the present analysis is based on data from families of children in the B cohort who participated in Wave 1 of the study in 2008 (*n* 954). Further details of LSIC's design are provided elsewhere^(38,39).

Research Administration Officers (RAOs) conduct annual face-to-face interviews with children and their primary caregiver (hereafter referred to as 'caregiver'). In most cases, the caregiver is the study child's mother, but can also be the child's father, stepmother, stepfather, relative or another guardian. The caregiver reported all data included in the current analysis except remoteness and area-level advantage, which were derived from participants' addresses. In cases where the caregiver was not the child's birth mother, questions about the pregnancy and study child's birth were asked about the child's birth mother.

Sample

Children were excluded from analysis if they were over 3 years of age (*n* 8/954) or they were missing data on the outcome and/or on remoteness (*n* 13/946); the final sample included 933 families.

Variables

Exposures

The online supplementary material, Supplemental File S1, provides a detailed description of exposure variables (sociodemographic, life circumstances, and health and well-being factors).

Table 1 Synthesis of previous evidence on sugar-sweetened beverage (SSB) and other beverage consumption by Aboriginal and Torres Strait Islander children aged 0–3 years

Source	Sample characteristics					% consuming each beverage type										
	Year(s) of data collection	Geographic area	Remoteness	Age (months)	Sample size	Any SSB	Cordial	Soft drinks	Sweetened tea/coffee	Fruit juice	Water	Still breast-fed	Formula	Cow's milk	Flavoured milk	Other
Eades <i>et al.</i> ^{(24)*}	Mid-1990s	Perth, WA	Urban	7–8	166	–	37	12	5	53	61	33	48	16	15	13
				12	169	–	60	33	17	70	65	23	18	50	33	23
Leonard <i>et al.</i> ^{(23)†}	2010–2012	Northern Australia	Remote	6–11	122	–	–	12	–	–	–	80	22	–	–	–
				12–17	62	–	–	37	–	–	–	53	3	–	–	–
				18–23	43	–	–	44	–	–	–	51	5	–	–	–
Ashman <i>et al.</i> ^{(25)‡}	2010	NSW	1 rural town and 1 remote town	3	25	–	–	–	–	8	16	24	88	4	–	0
				6	17	–	–	–	–	18	59	29	71	6	–	6
				9	14	–	–	–	–	21	79	36	71	14	–	7
				12	23	–	–	–	–	48	83	9	48	48	–	26
Australian Bureau of Statistics ^{(21,22)§}	2012–13	National (representative)	Urban, regional and remote	24–36	~300	53	26	18	3	19	68	–	4	89	4	12
Cockburn <i>et al.</i> ⁽¹⁹⁾	2010–2012	National (not representative)	Urban, regional	0–23	230	–	4	–	–	64	–	–	–	–	–	9
				24–47	179/180	–	49	–	–	69	–	–	–	–	–	10

*Beverage infants were 'mostly or 'sometimes' given in their bottles. 'Cool drink' classified under 'Soft drinks'. Other drink refers to 'powdered milk'.

†Infant intake the previous day. 'Sweet drinks' classified under 'Soft drinks'.

‡Infant intake in past 24 h. Other drink refers to 'Sweetened/flavoured water'.

§Child intake in past 24 h. The survey included 356 children aged 2–4 years (data on exact number aged 2–3 years unavailable), for a weighted estimate of 47 600 children. 'Tea' and 'Coffee, coffee substitutes' are included under 'Sweetened tea/coffee', but the survey did not ask whether or not these drinks were sweetened. 'Fruit and vegetable drinks' are classified under 'Fruit juice'. 'Soft drinks and flavoured mineral waters' are classified under 'Soft drinks'. 'Dairy milk (cow, sheep and goat)' are classified under 'Cow's milk'. 'Flavoured milks and milk shakes' are classified under 'Flavoured milk'. 'Other' drink refers to 'Other beverage flavourings and prepared beverages'.

||Infant intake in the past 24 h. Data on 'Soft drink and cordial' are combined. 'Other' drink refers to 'Diet soft drink and cordial'.

**Outcome: sugar-sweetened beverage consumption**

Caregivers were asked about the child's breast-feeding history, the child's age at first consumption of other forms of milk or formula, and the first type of non-breast milk or formula consumed. Caregivers were then asked, 'What does (study child) drink now?' Interviewers recorded all responses provided by the caregiver and categorised these as: hasn't had anything else yet, formula, cow's milk (carton/bottle), long-life milk, powdered milk (dried, Sunshine), tinned milk (Carnation), coconut milk, flavoured milk, water, fruit juice (hereafter referred to as 'fruit drink'), cordial, fizzy drink (hereafter referred to as 'soft drink'), sweetened tea/coffee and other. Interviewers only read out the option(s) if necessary to clarify a caregiver's response.

We classified cordial, soft drink and/or sweetened tea/coffee as SSB. Fruit drink was not included in this definition; as the sugar content of these beverages was not recorded in the survey, it was not possible to differentiate between 100 % fruit juice and fruit drink with added sugars.

While a time period was not specified in this question, based on the sequence of interview questions, responses were interpreted to represent the types of drinks children had been consuming since the introduction of any non-breast-milk drinks, therefore providing a measure of caregiver-reported infant 'ever' SSB consumption.

Analytical methods

We conducted descriptive analysis of SSB and other beverage consumption, overall and by age group and remoteness. We conducted χ^2 tests to test for an association between beverage consumption prevalence and age group and level of remoteness.

We calculated prevalence ratios (PR) using multilevel Poisson models with robust variance to quantify the association between exposure variables and SSB, accounting for within-cluster correlation, and adjusted for age group and remoteness. The Wald statistic was also used to test the association between SSB and exposure variables as a whole. For ordinal variables (child age, area-level advantage, number of homes lived in since birth, household size, number of negative life events), we tested for trend by re-running models with the exposure coded as a continuous variable.

Given the potential for residual confounding by remoteness, we tested for an interaction by and repeated analyses stratified by remoteness (urban/inner regional *v.* outer regional/remote, including remote and very remote; online supplementary material, Supplemental File S2).

Participatory research methods

Aligned with the participatory research methodology underpinning LSIC, the present analysis of quantitative data from LSIC incorporates participatory research approaches⁽⁴⁰⁾. In July 2018, the lead author (non-Indigenous) conducted a knowledge exchange discussion (focus group) with the RAOs (*n* 7) currently conducting

LSIC interviews. All RAOs are Aboriginal and/or Torres Strait Islander, and most live in the area in which they conduct interviews. Not all of the current RAOs were involved in Wave 1 data collection, but we consider the RAOs to be key informants, holding valuable contextual knowledge about these communities and participating families⁽⁴¹⁾. Many of the RAOs have been engaged with these families and communities over multiple years and have developed strong and trusting relationships⁽⁴⁰⁾. The primary aims of the focus group were to share preliminary findings, discuss potential interpretations and key messages, inform further analyses, and assist with developing a feedback sheet for LSIC participants. The focus group was semi-structured; K.A.T. presented early findings, and asked participants to reflect on each finding and provide their interpretations. Participants were encouraged to share their experiences and perspectives and discuss differences across contexts. Learnings from the focus group are incorporated into the 'Discussion' section.

Results

The sample included 473 males (50.7 %) and 460 females (49.3 %), with 30.3 % aged 0–12 months (*n* 283), 41.6 % aged 12–18 months (*n* 388) and 28.1 % aged 18–36 months (*n* 262). Close to a third of participants each lived in major cities (27.4 %, *n* 256), regional areas (37.1 %, *n* 346) and remote areas (35.5 %, *n* 331).

Beverage consumption

Half (50.7 %, *n* 473/933) of children had consumed any SSB; 46.8 % (*n* 437) had consumed cordial, 19.2 % (*n* 179) soft drink and 12.7 % (*n* 118) sweetened tea/coffee (Table 2). The prevalence of consumption of any SSB and individual SSB types was higher in older compared with younger age groups, and in more remote compared with regional and urban areas, although it was high in all settings.

Most children had consumed water (85.4 %, *n* 797) and fruit drink (75.6 %, *n* 705); 26.3 % (*n* 244) were still being breast-fed, 30.0 % (*n* 280) had consumed formula, 56.0 % (*n* 522) cow's milk, 24.5 % (*n* 229) flavoured milk and 11.4 % (*n* 106) other types of milk. Consumption prevalence of fruit drink, water, cow's milk, flavoured milk and other milk was higher in older age groups; prevalence of breast-feeding and formula consumption was lower in older age groups. Consumption of fruit drink (70–80 %), water (80–90 %), cow's milk (50–60 %) and flavoured milk (20–30 %) was common across levels of remoteness. Consumption of formula was more common in major cities (41.4 %, *n* 106/256) compared with regional (27.5 %, *n* 95/346) or remote (23.9 %, *n* 79/331) areas, and the prevalence of breast-feeding and consumption of other forms of milk (long-life milk, powdered, tinned and coconut) was substantially higher among children in remote areas (47.0 %, *n* 154/328 and 24.2 %, *n* 80/331, respectively)

**Table 2** Sugar-sweetened beverage (SSB) and other beverage consumption by Aboriginal and Torres Strait Islander children aged 0–3 years in the Longitudinal Study of Indigenous Children Wave 1 (2008), overall and by age group and level of remoteness

	By age group								By level of remoteness					
	Overall (N 933)		0–12 months (N 283)		>12–18 months (N 388)		>18–36 months (N 262)		Major cities (N 256)		Regional (N 346)		Remote (N 331)	
	%	n	%	n	%	n	%	n	%	n	%	n	%	n
Any SSB†,‡	50.7	473	29.3	83	56.2	218	65.7	172	36.3	93	49.7	172	62.8	208
Cordial†,‡	46.8	437	26.9	76	52.1	202	60.7	159	32.8	84	46.5	161	58.0	192
Fizzy drinks†,‡	19.2	179	5.7	164	20.9	81	31.3	82	10.2	26	19.1	66	26.3	87
Sweetened tea/coffee†,‡	12.7	118	7.1	20	12.4	48	19.1	50	5.5	14	6.4	22	24.8	82
Fruit drink†,‡	75.6	705	65.0	18	78.9	306	82.1	215	68.8	176	73.1	253	83.4	276
Water†,‡	85.4	797	80.6	228	87.9	341	87.0	228	87.9	225	78.9	273	90.3	299
Still breast-fed*,†,‡	26.3	244	33.6	95	26.6	102	18.1	47	14.1	36	15.6	54	47.0	154
Formula†,‡	30.0	280	49.8	141	26.0	101	14.5	38	41.4	106	27.5	95	23.9	79
Cow's milk†,‡	56.0	522	30.0	85	63.1	245	73.3	192	53.1	136	62.4	216	51.4	170
Flavoured milk†,‡	24.5	229	12.0	34	28.1	109	32.8	86	17.6	45	28.6	99	25.7	85
Other milk†,‡	11.4	106	6.4	18	12.9	50	14.5	38	2.3	6	5.8	20	24.2	80

Other milk includes long-life, powdered, tinned and coconut milk.

*N6 missing data on breast-feeding duration; total N is 283, 384 and 260 across age groups, and 253, 346 and 328 across levels of remoteness.

†Significant association with age group (χ^2 test, $P < 0.05$).‡Significant association with remoteness (χ^2 test, $P < 0.05$).

compared with major cities (14.2 %, n 36/253 and 2.3 %, n 6/256) and regional areas (15.6 %, n 54/346 and 5.8 %, n 20/346).

Association between exposures and children's sugar-sweetened beverage consumption

Sociodemographic factors

SSB consumption increased with age and number of children in the household and decreased with increasing area-level advantage ($P_{\text{trend}} < 0.05$; Table 3). SSB consumption prevalence was significantly lower among children: in major cities and regional areas compared with remote areas who were Torres Strait Islander compared with Aboriginal; whose mother was 21–30 years or >30 years of age compared with ≤ 21 years at their birth; and whose caregiver was employed compared with not employed. We did not observe an association of SSB consumption with child gender or caregiver relationship status.

Life circumstances factors

SSB consumption prevalence was significantly lower for children whose caregivers had higher *v.* lower levels of instrumental support (caregiver has a strong family), social network (caregiver has lots of friends) and emotional support (caregiver has someone to talk to when upset; Table 3). SSB consumption prevalence was significantly lower among children whose families were financially secure (lower financial strain, no worries about money) and who were exposed to fewer stressors (limited exposure to racism, not humbugged,* low number of negative major life events in the past year). We did not observe

an association between SSB and maternal informational support (caregiver receipt of pregnancy and birthing advice from mothers, Aunties or Elders) or housing (home needs repairs; number of homes lived in since birth).

Health and well-being factors

SSB consumption prevalence was significantly lower among children who were not exposed to smoke *in utero*, whose caregiver had good social and emotional well-being and physical health, whose mother had regular compared with no prenatal check-ups, who had adequate access to health services and whose caregiver was not a current smoker (Table 3).

SSB consumption prevalence was significantly higher among children whose family received postnatal home visits from an AHW compared with no home visits. We did not observe an association of SSB consumption prevalence with breast-feeding duration, postnatal depression, child physical health or caregiver cultural knowledge.

Differences between urban/inner regional and remote/outer regional settings

We observed a difference between urban/inner regional and remote/outer regional settings ($P_{\text{interaction}} < 0.05$) in the association between SSB and age group, caregiver relationship status, caregiver employment status, informational support, financial strain, worries about money, number of homes, negative life events, smoking during pregnancy, breast-feeding duration, caregiver current smoking and unmet need for health services (online supplementary material, Supplemental Table S1). In many cases, the pattern of association was similar, but the magnitude of effect was greater within the urban/inner regional sample and non-significant within the remote/outer regional sample.

*Some Aboriginal and Torres Strait Islander people use the term 'humbug' to refer to demands made by relatives for money or other resources.

**Table 3** Association of sugar-sweetened beverage (SSB) consumption by Aboriginal and Torres Strait Islander children aged 0–3 years with sociodemographic, life circumstances, and health and well-being factors (combined sample) in the Longitudinal Study of Indigenous Children Wave 1 (2008)

	% any SSB	n/N	PR	95 % CI	P value
Total	50.7	473/933	–	–	–
Sociodemographic factors					
Child gender					0.570
Male	49.9	236/473	1.00	Ref.	
Female	51.5	237/460	1.03	0.93, 1.13	
Child age group*					<0.001
0–12 months	29.3	83/283	1.00	Ref.	
>12–18 months	56.2	218/388	1.88	1.51, 2.33	
>18–36 months	65.7	172/262	2.13	1.66, 2.74	
Child Indigenous status					0.079
Aboriginal	51.7	419/811	1.00	Ref.	
Torres Strait Islander	35.0	21/60	0.63	0.42, 0.95	
Aboriginal & Torres Strait Islander	53.2	33/62	0.91	0.72, 1.14	
Area-level advantage*					0.377
Most advantaged	38.3	75/196	0.80	0.58, 1.10	
Mid-level advantage	51.1	298/583	0.88	0.67, 1.16	
Most disadvantaged	64.9	100/154	1.00	Ref.	
Remoteness					0.001
Major cities	36.3	93/256	0.63	0.49, 0.80	
Regional	49.7	172/346	0.85	0.68, 1.07	
Remote	62.8	208/331	1.00	Ref.	
Mother's age at birth					0.002
Not birth mother	50.9	28/55	0.82	0.66, 1.03	
Up to 21 years	62.6	129/206	1.00	Ref.	
21–30 years	50.2	213/424	0.84	0.74, 0.96	
>30 years	41.5	103/248	0.73	0.62, 0.86	
Caregiver is partnered					0.938
No	50.9	208/409	1.00	Ref.	
Yes	50.6	265/524	1.00	0.89, 1.11	
Caregiver is employed					0.025
No	53.7	364/678	1.00	Ref.	
Yes	43.2	107/248	0.83	0.71, 0.98	
Missing	28.6	2/7	–	–	
Number of children in the household*					0.055
1	42.9	109/254	0.80	0.67, 0.97	
2	47.9	112/234	0.84	0.71, 1.00	
3	53.5	106/198	0.94	0.81, 1.09	
4 or more	59.1	146/247	1.00	Ref.	
Life circumstances					
Caregiver has a strong family					0.028
Not really or sometimes	58.2	78/134	1.00	Ref.	
Most times	43.4	56/129	0.76	0.62, 0.94	
Always	50.6	338/668	0.85	0.72, 0.99	
Missing	50.0	1/2	–	–	
Caregiver has lots of friends					0.005
None or not many	53.5	92/172	1.00	Ref.	
Fair few	53.3	170/319	1.03	0.88, 1.21	
Lots	47.7	211/442	0.81	0.68, 0.97	
Caregiver has someone to talk to when upset					0.059
Never or little bit	59.3	83/140	1.00	Ref.	
Fair bit	49.2	60/122	0.87	0.71, 1.07	
Always	49.1	328/668	0.83	0.71, 0.97	
Missing	66.7	2/3	–	–	
Caregiver advice from mothers, Aunties, Elders					0.559
No	49.7	298/600	1.00	Ref.	
Yes	53.2	148/278	1.04	0.91, 1.19	
Missing	49.1	27/55	–	–	
Family financial strain					0.001
We run out of money	64.3	101/157	1.00	Ref.	
We have just enough money	51.7	216/418	0.81	0.69, 0.95	
We can save	44.9	144/321	0.69	0.57, 0.84	
Missing	32.4	12/37	–	–	
Family worries about money					0.008
No	48.5	315/650	0.83	0.73, 0.95	
Yes	55.7	151/271	1.00	Ref.	
Missing	58.3	7/12	–	–	
Home needs major repairs					0.258
No	47.0	259/551	0.92	0.80, 1.06	
Yes	55.6	203/365	1.00	Ref.	
Missing	64.7	11/17	–	–	

**Table 3** *Continued*

	% any SSB	n/N	PR	95 % CI	P value
Number of homes since study child's birth					0.299
1	47.5	290/611	0.87	0.73, 1.05	
2	55.6	125/225	0.94	0.77, 1.14	
3 or more	60.2	53/88	1.00	Ref.	
Missing	55.6	5/9	—	—	
Caregiver experience of discrimination					0.016
Not really	51.8	281/543	0.87	0.77, 0.97	
Little bit to lots of times	59.1	133/225	1.00	Ref.	
Missing	35.8	59/165	—	—	
Humbled in the last year					0.001
No	47.3	343/725	0.79	0.70, 0.91	
Yes	62.1	126/203	1.00	Ref.	
Missing	80.0	4/5	—	—	
Number of negative life events*					<0.001
0	39.9	59/148	0.68	0.55, 0.85	
1	44.5	101/227	0.73	0.64, 0.84	
2	47.7	82/172	0.80	0.67, 0.96	
3 to 10	61.4	202/329	1.00	Ref.	
Missing	50.9	29/57	—	—	
Health and well-being					
Prenatal check-ups					0.060
No check-ups	66.7	16/24	1.00	Ref.	
Some check-ups, not regular	63.6	28/44	0.93	0.69, 1.24	
Regular check-ups	49.6	400/807	0.80	0.63, 1.00	
Missing	50.0	29/58	—	—	
Smoking during pregnancy					<0.001
No	42.9	176/410	0.77	0.67, 0.89	
Yes	58.3	256/439	1.00	Ref.	
Missing	48.8	41/84	—	—	
Duration of breast-feeding					0.638
Never breast-fed	46.4	84/181	1.00	Ref.	
Less than 6 months	49.2	97/197	1.08	0.88, 1.33	
6 months or more	52.2	286/548	1.01	0.84, 1.21	
Missing	85.7	6/7	—	—	
Postnatal depression					0.251
No	50.6	367/726	0.94	0.76, 1.16	
Yes (treated)	55.4	36/65	1.09	0.83, 1.44	
Yes (untreated)	48.6	35/72	1.00	Ref.	
Missing	50.0	35/70	—	—	
Caregiver social and emotional well-being					<0.001
Good (low distress)	44.9	286/637	0.73	0.62, 0.85	
Poor (high distress)	65.3	113/173	1.00	Ref.	
Missing	60.2	74/123	—	—	
Child general health					0.799
Good, fair or poor	50.8	98/193	1.00	Ref.	
Excellent or very good	50.8	375/738	0.98	0.84, 1.14	
Missing	0.0	0/2	—	—	
Caregiver general health					0.014
Good, fair or poor	54.2	254/469	1.00	Ref.	
Excellent or very good	47.6	215/452	0.85	0.75, 0.97	
Missing	33.3	4/12	—	—	
Access to health services					0.003
Adequate access	48.9	415/848	0.76	0.64, 0.91	
Unmet need for health services	67.9	55/81	1.00	Ref.	
Missing	75.0	3/4	—	—	
Home visits after birth					<0.001
No home visits	52.7	187/355	1.00	Ref.	
Home visits not from AHW	45.7	210/460	1.00	0.85, 1.17	
Home visits from AHW	70.1	75/107	1.37	1.17, 1.59	
Missing	9.1	1/11	—	—	
Caregiver currently smokes					<0.001
No	40.6	159/392	0.76	0.63, 0.85	
Yes	58.0	314/541	1.00	Ref.	
Caregiver knowledge of family, culture, history					0.886
Not much or a little bit	49.3	150/304	1.00	Ref.	
Fair bit	49.8	124/249	0.97	0.83, 1.14	
Lots	52.7	199/378	0.96	0.81, 1.13	
Missing	0.0	0/2	—	—	

PR, prevalence ratio; AHW, Aboriginal Health Worker; ref., reference category.

All models exclude children missing data on the exposure of interest; all models are adjusted for age group and remoteness (where appropriate).

P value shown is for the Wald statistic.

The missing category for caregiver discrimination is large because caregivers were asked this question only if they identified as Aboriginal and/or Torres Strait Islander.

*Significant trend of decreasing prevalence of SSB intake with decreasing value of the exposure variable, i.e. decreasing prevalence with decreasing area-level disadvantage, household size and number of negative life events ($P_{\text{trend}} < 0.05$); only tested for ordinal variables.



Discussion

Overview

To our knowledge, the present study is the first to provide quantitative, national-level evidence on the patterns of SSB consumption by Aboriginal and Torres Strait Islander children in the first years of life. Our exploratory findings highlight some positive elements of beverage intake by young Aboriginal and Torres Strait Islander children: more than one in four children in the sample were still being breast-fed at age >12–18 months and the prevalence of water consumption was high, at 80–90 % across age groups and levels of remoteness. However, there are clear opportunities to improve child nutrition, with a substantial proportion of children across remote, regional and urban settings consuming SSB from an early age, as well as fruit drink, flavoured milk and other forms of milk in the first year of life.

We identified a diverse range of factors associated with the consumption of SSB by young children in LSIC, reflecting the complexity of factors influencing Aboriginal and Torres Strait Islander child nutrition⁽³⁶⁾. In general, we observed lower SSB consumption prevalence among children whose families experienced socio-economic advantage, good life circumstances, and good health and well-being, broadly consistent with Australian and international evidence^(1,19,42). We observed differences between urban/inner regional and remote/outer regional settings in both the prevalence of SSB consumption and associated factors, demonstrating the importance of environmental and structural factors to children's nutrition.

Beverage intake

SSB consumption prevalence was relatively high even within the youngest age group (29.3 %, unadjusted, of children aged 0–12 months) and increased steeply with age (to 56.2 % of children aged 12–18 months and 65.7 % of children aged 18–36 months). Across age groups, of the SSB, cordial consumption was most common (46.8 %), followed by soft drink (19.2 %) and sweetened tea/coffee (12.7 %). Patterns of consumption are generally consistent with those from localised quantitative and qualitative studies^(23–25) and with national NATSINPAS data, noting differences in outcome definition and age group: 26.0 (95 % CI 13.5, 18.5) % of children aged 2–3 years had consumed cordial the day prior to interview, 17.9 (95 % CI 5.4, 26.5) % soft drinks and 2.7 (95 % CI 0.7, 4.7) % tea⁽²²⁾. Consumption of fruit drink and flavoured milk was also common among children in the present sample, as has been observed in previous studies^(19,21,22,24,25). Children's consumption of fruit drink^(24,25,43) and flavoured milk may be encouraged by caregivers who perceive this to be a healthy choice, despite the potentially high sugar content.

One-third (33.6 %, unadjusted) of children up to 12 months of age were still being breast-fed, decreasing to 26.6 % among children aged >12–18 months and 18.1 %

among those aged >18–36 months. The prevalence of breast-feeding was substantially higher in remote *v.* urban settings (47.6 *v.* 14.2 %, unadjusted), consistent with previous research^(7,25,36,37). Aligned with this, formula consumption was more common among children living in urban *v.* remote settings (41.4 *v.* 23.9 %, unadjusted)^(37,44). This may relate to increased continuation of, or reduced disruption to, pre-colonisation feeding practices in more remote settings^(34,37).

Almost one-third of children up to 12 months of age had consumed cow's milk (30.0 %, unadjusted). Previous research has identified that there may be a lack of awareness that cow's milk is not recommended at this age⁽⁶⁾. Other forms of milk, including powdered, long-life, tinned and coconut, were commonly consumed in remote areas, with one in four children (24.2 %, unadjusted) consuming these drinks, compared with 5.8 and 2.3 % in regional and urban areas, respectively. Previous research has identified that some Aboriginal and Torres Strait Islander mothers perceive powdered milk to be beneficial for the baby, particularly mothers who consumed powdered milk when they themselves were growing up⁽⁶⁾ (common on missions and stations^(33,45)). Powdered milk has also been described as an alternative for families who did not have enough money to buy formula⁽⁶⁾.

Factors associated with sugar-sweetened beverage consumption

Remoteness

The prevalence of SSB consumption was significantly lower among children living in major cities (36.3 %; PR=0.63, 95 % CI 0.49, 0.80) and regional areas (49.7 %, unadjusted; PR=0.85, 95 % CI 0.68, 1.07) compared with remote areas (62.8 %). Higher consumption in regional and remote settings may reflect affordability- and accessibility-related barriers to recommended food choices in these communities^(19,46,47). For example, the price of healthy food in remote communities is significantly higher compared with major cities or regional centres, and there are limited food outlets; this, compounded by lower average socio-economic position in remote settings, may limit families' ability to make healthy food choices⁽⁴⁶⁾.

In addition, many people living in regional and remote communities in Australia do not have ready access to safe drinking-water^(48,49). In the focus group, RAOs raised concerns about water quality in many regional and remote settings, citing problems such as yellow bore water, high levels of lead in water and 'poisoned' water (such as contamination with per- and polyfluoroalkyl substances in Katherine, Northern Territory⁽⁵⁰⁾). Previous research suggests that tap water is perceived as 'unhealthy' in some settings⁽⁵¹⁾, including due to a history of water quality problems⁽⁴⁹⁾. RAOs explained that, when concerned about water taste or safety, many people avoid drinking tap water and buy bottled water or other beverages; when bottled



water is the same price as SSB, people may opt for SSB. This fits with previous research suggesting that the lack of palatable water can lead to high consumption of SSB and other ready-to-drink beverages in Australia⁽⁴⁸⁾ and internationally⁽⁵²⁾. For example, research in an Australian⁽⁵³⁾ and a Canadian⁽⁵²⁾ remote community with poor water quality identified that it was common to mix water with cordial or tea to make it drinkable, and that soft drinks were more commonly consumed than tap water. Redressing water conflicts in Australia could have multiple benefits for Aboriginal and Torres Strait Islander peoples' well-being, including decreased SSB consumption^(48,54,55).

In many regional and remote communities there are frequent disruptions to electricity supply, including families being unable to pay for electricity for periods of time. Without regular electricity supply, it is not possible to cool warm tap water. RAOs highlighted that the warm climate of many remote areas also contributed to high SSB intake, with SSB perceived to quench thirst better than (warm) water. This is supported by previous research demonstrating the role of temperature in beverage selection among Aboriginal and Torres Strait Islander people⁽⁵³⁾. These structural and environmental factors linked to the remote/outer regional setting may contribute to the higher prevalence of SSB consumption in regional and remote areas, and may explain why we identified relatively fewer factors associated with SSB intake in the remote/outer regional sample compared with the urban/inner regional sample: individual or family characteristics may be overpowered by community-level factors⁽⁴⁷⁾.

Previous findings from LSIC identified higher consumption of SSB (soft drink, cordial and sports drink combined) among children aged 3–9-years living in more urban compared with more remote settings⁽⁵⁶⁾. This may reflect age variation in the association between remoteness and SSB intake. While SSB consumption prevalence was higher in the remote *v.* urban sample within the younger age groups and overall, the increase with age was more pronounced in the urban/inner regional sample, from 19.6 to 66.1% (PR = 3.33, 95% CI 2.40, 4.62; absolute difference = 46.5%), compared with 41.6 to 65.2% in the remote/outer regional sample (PR = 1.56, 95% CI 1.18, 2.06; absolute difference = 23.6%). Thus, childhood SSB consumption is a concern across settings (online supplementary material, Supplemental Table S1).

Other demographic factors

We found that the prevalence of SSB consumption was lower among children with older compared with younger mothers. This may be explained by higher levels of employment or financial security among older compared with younger mothers, or other unmeasured factors such as education. SSB consumption prevalence was significantly lower in households with fewer children. This is consistent with previous research showing an association

between smaller household size and recommended child feeding behaviours such as frequency of meals⁽²³⁾, and may reflect fewer competing pressures on caregivers.

Social support

We identified protective associations between multiple forms of caregiver social support (instrumental, social network, emotional) and children's SSB consumption. This is consistent with local⁽⁶⁾ and international^(57–59) literature on the importance of social support for optimum infant nutrition. Previous research has identified that many mothers consider family and Elders to be key sources of advice, often preferred over health professionals⁽⁶⁰⁾. This knowledge and informational support can serve as a health resource^(32,60); however, we found that, within urban settings, caregiver receipt of pregnancy/birthing advice from kin was associated with a significant increase in child SSB consumption prevalence. This might indicate that within urban settings, the advice being shared was not aligned with dietary guidelines. Given the trust placed in advice from kin, building local knowledge and support within the community (rather than only within health providers) may contribute to increased knowledge transfer and improved nutritional outcomes^(32,60).

Socio-economic position and stressors

Socio-economic advantage (area-level advantage, caregiver employment, family financial security) was associated with a lower prevalence of SSB consumption. This aligns with previous findings of socio-economic gradients in SSB intake among older Aboriginal and Torres Strait Islander children (aged 3–9 years)⁽⁵⁶⁾, and early and persistent socio-economic inequalities in sugar-sweetened food and drink intake among young Australian children^(16,17,61). SSB intake by those experiencing financial strain may relate to reduced affordability, availability and/or accessibility of recommended drinks and foods^(23,26,46). In the context of financial insecurity, the relatively cheaper cost of SSB may encourage their consumption compared with milk, formula, fruit juices, bottled water or milk. We did not observe an association between SSB intake and socio-economic factors within the remote sample; this supports the hypothesis that within remote/outer regional settings, structural and environmental factors related to the remote/outer regional setting itself may have a greater influence on SSB consumption than individual or family-level factors^(47,62).

We found that children were less likely to consume SSB if their family was not exposed to other forms of stressors, including housing insecurity, discrimination, humbugging or negative major life events. This is consistent with previous research indicating that complex life circumstances or exposure to stressors may make it more difficult for families to provide optimum nutrition for their children^(5,31,63). In the focus group, the RAOs echoed that, for many families, there were 'more important' things to worry about, so



what their children were drinking was not their highest concern. The observed association between discrimination and children's SSB consumption is consistent with previous LSIC findings of an association between caregivers' racism experiences and reduced access to nutrition for their children⁽⁴⁷⁾ and qualitative findings identifying a link between current health behaviours and current and historical experiences of discrimination and exclusion⁽³¹⁾.

Health provider interactions

We found that SSB consumption prevalence was lower among children whose families engaged in regular prenatal health check-ups and who had adequate access to health services. However, we did not find that postnatal home visits were associated with lower SSB consumption prevalence; compared with families receiving no postnatal visits, families receiving visits from a non-AHW health provider had a similar prevalence of child SSB consumption and families receiving visits from an AHW had a significantly higher prevalence of child SSB consumption. This finding was consistent across the combined, urban/inner regional and remote/outer regional samples. AHW and Aboriginal Community Controlled Health Services are generally understood to provide more relevant and trusted advice and care than non-Aboriginal service providers^(31,32,60,63,64). As such, we hypothesised that children in families receiving postnatal home visits from AHW would be least likely to consume SSB. There are a number of potential explanations for this contrary finding. In some settings, AHW home visits are targeted at families considered 'high risk' according to factors that were independently associated with increased SSB intake in this sample (socio-economic position, stressors or identified barriers to accessing health services). For example, Aboriginal and Torres Strait Islander families in Sydney are recruited into the Maternal Early Childhood Sustained Home-visiting programme if they are classified as high risk according to factors such as young maternal age, experience of major stressors, psychosocial distress, or a current or past mental health problem⁽⁶⁵⁾; mothers participating to the Australian Nurse–Family Partnership Program (ANFPP) in Alice Springs were more likely to be younger and have insecure housing than mothers who were not referred or who declined to participate⁽⁶⁶⁾.

This finding might indicate the benefits of further building capacity in child nutrition among AHW (as well as other health providers). Previous research has identified a need to build nutrition expertise among AHW^(5,29), including providing AHW clear and contextually relevant information to disseminate to families^(29,67) and building AHW confidence in delivering correct nutritional messages⁽⁵⁾. Training gaps have also been identified for other health providers working in Aboriginal and Torres Strait Islander infant and child health^(5,6,63).

Previous research has identified that Aboriginal and Torres Strait Islander child nutrition is not always viewed

as a key issue by health providers^(24,29), potentially because health-care interactions are focused on other, acute issues perceived to be more pressing⁽⁶³⁾. For example, an evaluation of the ANFPP in Alice Springs found that the complexity of families' lives often reduced both health workers' ability to provide programme content and mothers' ability to put messages into practice⁽⁶⁷⁾. The ANFPP evaluation highlighted that it is not feasible to expect an infant home-visiting programme to 'solve underlying social issues' within their current time and capacity, and identified the potential value of an additional role dedicated to addressing social determinants of health⁽⁶⁷⁾. Further research could investigate the role and capacity of health services, as well as broader social support services, in improving child nutrition.

Maternal and caregiver health behaviours

We hypothesised that SSB intake and breast-feeding would be linked, with children breast-fed for longer durations less likely to consume SSB, as has been observed in international research⁽⁴²⁾. However, we did not observe an association between duration of breast-feeding and infant SSB consumption in the present study. This suggests that both mothers who are breast-feeding and mothers who are not breast-feeding require support and education to maintain healthy infant feeding behaviours; efforts are required both to increase breast-feeding duration (particularly in urban areas) and decrease SSB consumption in order to benefit children's health.

In the current study, children were significantly less likely to consume SSB if they were not exposed to smoke *in utero* and if their caregiver was not a current smoker. We are unaware of any other findings specific to maternal smoking and infant SSB consumption, but we hypothesise that this may reflect non-smoking mothers being 'health conscious'^(68,69) or the association between non-smoking and social advantage⁽⁷⁰⁾. Caregivers who smoke might benefit from additional support and advice regarding child nutrition^(68,71,72).

Well-being

Children were significantly less likely to consume SSB if their caregiver currently had good (compared with poor) social and emotional well-being and physical health. This is consistent with previous qualitative research describing the importance of mental health to parenting⁽³¹⁾ and suggests that approaches to improve child nutrition should be integrated, incorporating supports for caregiver and family well-being^(6,29,31,64). Given the importance of culture to well-being⁽⁷³⁾, and given evidence of the healthy infant feeding patterns pre-colonisation, we hypothesised that SSB consumption would be less common among children whose caregivers had a stronger connection to culture. However, we did not observe an association in the present study. It is possible that the variable employed is not a robust indicator of cultural connection or that cultural factors are not directly linked to SSB consumption.



Limitations

A number of potential limitations should be considered when interpreting these findings. We were limited to examining variables collected in LSIC and relied upon information reported by the caregiver, which may be influenced by recall, reporting or social desirability biases. As a result, these data may under-represent SSB prevalence consumption in the cohort. However, many caregivers did report SSB intake by their children, consistent with previous research, suggesting that social desirability bias was not preventing caregivers from reporting this behaviour. Further, LSIC did not use validated questions to collect data about child SSB consumption. There are few existing dietary questionnaires validated for use with Aboriginal and Torres Strait Islander peoples^(18,74) and we are unaware of any measures validated for use with this age group. The questions used in the present study do not provide a comprehensive assessment of dietary intake; we focused on SSB intake given community concern and known lack of nutritional benefit. While they are often high in sugar, fruit juice and flavoured milk were not classified as SSB in the present study, as the sugar content of these beverages was not recorded in the survey and there is the potential for these beverages to contain nutritional benefit^(75,76). However, particularly given their high consumption prevalence, this merits further investigation.

The present study did not explore characteristics of the child's other caregivers, such as employment status, which may have an important role in children's diets^(77,78).

Given the cross-sectional design, we could not determine the direction of associations or make causal inferences. It is possible that observed exposure–outcome associations are confounded by other factors. However, the present analysis was exploratory in nature, quantifying the association between child SSB intake and a broad range of factors; it was not intended to be a predictive model, incorporating all potential confounders. Given the large number of factors examined, it is possible that some of the observed significant associations are due to chance alone. We did not adjust for multiple comparisons in the present study due to its exploratory nature; additional studies are required to confirm results⁽⁷⁹⁾.

Data from LSIC are not intended to be representative of all Aboriginal and Torres Strait Islander children; data on prevalence of SSB intake are representative only of the 933 children in the sample. In contrast, findings from internal comparisons, i.e. the PR calculated in the present study, are intended to be generalisable beyond the study population^(84,85).

Conclusion

It is well established that nutrition in the early years is important for health in the short and long term. Consistent with previous findings, the present study provides national evidence that SSB consumption is

common among Aboriginal and Torres Strait Islander children from the first year of life. There is international evidence that early childhood (age 2–6 years) is a critical period for the development of sustained obesity⁽⁸²⁾. Given the established link between SSB and obesity risk, and the high consumption prevalence of SSB in early childhood in this population, there is potential to promote healthy weight trajectories (as well as other positive health outcomes) through reducing early SSB consumption⁽⁸³⁾.

The present exploratory study found that socioeconomic advantage, social support, limited exposure to stressors and caregiver well-being were linked to lower SSB consumption prevalence among young Aboriginal and Torres Strait Islander children. These findings reiterate the importance of considering the well-being of the whole family when creating policies and programmes to support healthy diets for Aboriginal and Torres Strait Islander infants and children, rather than focusing on the child in isolation. Coordinated programmes that address these interrelated factors and re-build local nutritional knowledge could lead to improved child nutrition^(31,60,84,85).

Health providers' advice and information needs to be relevant and applicable to the context of families' lives, for example considering the range of stressors, competing priorities or barriers that caregivers might face^(5,6,29,31,32,36). However, improving information and knowledge addresses only one of the many barriers to optimum child nutrition^(18,29). Health system strategies need to be paired with upstream strategies, such as holistic support programmes for families^(31,60,67,85), and efforts to reduce racism and improve the food environment, including water quality and safety.

While the present study indicates that SSB consumption is common among young Aboriginal and Torres Strait Islander children, this is not an issue specific to this population⁽¹⁸⁾; there is clear evidence of a high prevalence of SSB intake among infants in the total Australian population^(1,17,19,86) and in other countries including Finland⁽⁸⁷⁾ and Brazil⁽⁸⁸⁾. Efforts to reduce SSB consumption by Aboriginal and Torres Strait Islander children could be broadened to lead to health benefits at the population level.

Acknowledgements

Acknowledgements: The authors acknowledge all the traditional custodians of the land and pay respect to Elders past, present and emerging. The authors would like to acknowledge the generosity of the Aboriginal and Torres Strait Islander families who participated in the study, and the Elders of their communities. The authors would like to thank the LSIC Research Administration Officers for sharing their views during the focus group discussion and LSIC staff for their support and assistance. This study uses data from

the Longitudinal Study of Indigenous Children (LSIC). LSIC is managed by the Australian Government Department of Social Services (DSS). The findings and views reported in this paper, however, are those of the authors and should not be attributed to DSS or the Indigenous people and their communities involved in the study. The authors acknowledge the advice provided by Jason Agostino, Roxanne Jones and Catherine Helps. *Financial support:* The work was supported by the Lowitja Institute (K.A.T., reference number 1344); the National Health and Medical Research Council (R.L., reference number 1042717); the Cancer Disparities Research Network/Geographic Management Program (GMap) Region 4 (A.G.C., reference number 3 P30 CA006927-52S2); and CTSI Mentored Career Development Award (A.G.C., reference number KL2 TR002545). The funders had no role in the design, analysis or writing of this article. *Conflict of interest:* None. *Authorship:* K.A.T. conceived the study. K.A.T. and J.L. refined the research question and designed the analysis. K.A.T. conducted the data analysis. K.A.T. and J.L. interpreted findings. K.A.T. conducted the key informant focus group. K.A.T. and J.L. drafted the manuscript; all authors provided substantive input on the manuscript and approved the final version. *Ethics of human subject participation:* LSIC was conducted with ethics approval from the Departmental Ethics Committee of the Australian Commonwealth Department of Health and from relevant Ethics Committees in each State and Territory, including relevant Aboriginal and Torres Strait Islander organisations. Written informed consent was obtained from participants. The Australian National University's Human Research Ethics Committee granted ethics approval for the analysis of LSIC and for the conduct of the knowledge exchange focus group (protocol number 2016/534).

Supplementary material

To view supplementary material for this article, please visit <https://doi.org/10.1017/S1368980019001812>

References

- Ha DH, Do LG, Spencer AJ *et al.* (2017) Factors influencing early feeding of foods and drinks containing free sugars – a birth cohort study. *Int J Environ Res Public Health* **14**, 1270.
- Gillman MW (2010) Early infancy – a critical period for development of obesity. *J Dev Orig Health Dis* **1**, 292–299.
- Ventura AK & Worobey J (2013) Early influences on the development of food preferences. *Curr Biol* **23**, R401–R408.
- National Health and Medical Research Council (2013) *Infant Feeding Guidelines: Summary*. Canberra, ACT: Commonwealth of Australia, Department of Health and Ageing.
- Myers J, Thorpe S, Browne J *et al.* (2014) Early childhood nutrition concerns, resources and services for Aboriginal families in Victoria. *Aust N Z J Public Health* **38**, 370–376.
- Holmes W, Thorpe L & Phillips J (1997) Influences on infant-feeding beliefs and practices in an urban Aboriginal community. *Aust N Z J Public Health* **21**, 504–510.
- Holmes W, Phillips J & Thorpe L (1997) Initiation rate and duration of breast-feeding in the Melbourne Aboriginal community. *Aust N Z J Public Health* **21**, 500–503.
- World Health Organization (2014) Reducing consumption of sugar-sweetened beverages to reduce the risk of childhood overweight and obesity. https://www.who.int/elena/bbc/ssbs_childhood_obesity/en/ (accessed March 2019).
- Malik VS, Pan A, Willett WC *et al.* (2013) Sugar-sweetened beverages and weight gain in children and adults: a systematic review and meta-analysis. *Am J Clin Nutr* **98**, 1084–1102.
- Malik VS, Popkin BM, Bray GA *et al.* (2010) Sugar-sweetened beverages and risk of metabolic syndrome and type 2 diabetes: a meta-analysis. *Diabetes Care* **33**, 2477–2483.
- Malik VS, Popkin BM, Bray GA *et al.* (2010) Sugar-sweetened beverages, obesity, type 2 diabetes mellitus, and cardiovascular disease risk. *Circulation* **121**, 1356–1364.
- Armfield JM, Spencer AJ, Roberts-Thomson KF *et al.* (2013) Water fluoridation and the association of sugar-sweetened beverage consumption and dental caries in Australian children. *Am J Public Health* **103**, 494–500.
- Vartanian LR, Schwartz MB & Brownell KD (2007) Effects of soft drink consumption on nutrition and health: a systematic review and meta-analysis. *Am J Public Health* **97**, 667–675.
- Imamura F, O'Connor L, Ye Z *et al.* (2016) Consumption of sugar sweetened beverages, artificially sweetened beverages, and fruit juice and incidence of type 2 diabetes: systematic review, meta-analysis, and estimation of population attributable fraction. *Br J Sports Med* **50**, 496–504.
- Ventura AK & Mennella JA (2011) Innate and learned preferences for sweet taste during childhood. *Curr Opin Clin Nutr Metab Care* **14**, 379–384.
- Park S, Pan L, Sherry B *et al.* (2014) The association of sugar-sweetened beverage intake during infancy with sugar-sweetened beverage intake at 6 years of age. *Pediatrics* **134**, Suppl. 1, S56–S62.
- Spence AC, Campbell KJ, Loret S *et al.* (2018) Early childhood vegetable, fruit, and discretionary food intakes do not meet dietary guidelines, but do show socioeconomic differences and tracking over time. *J Acad Nutr Diet* **118**, 1634–1643.
- Wright KM, Dono J, Brownbill AL *et al.* (2019) Sugar-sweetened beverage (SSB) consumption, correlates and interventions among Australian Aboriginal and Torres Strait Islander communities: a scoping review. *BMJ Open* **9**, e023630.
- Cockburn N, Lalloo R, Schubert L *et al.* (2018) Beverage consumption in Australian children. *Eur J Clin Nutr* **72**, 401–409.
- Gupta A, Smithers LG, Braunack-Mayer A *et al.* (2018) How much free sugar do Australians consume? Findings from a national survey. *Aust N Z J Public Health* **42**, 533–540.
- Australian Bureau of Statistics (2014) 4364.0.55.007. Australian Health Survey: Nutrition First Results – Foods and Nutrients, 2011–12. Table 18: Consumption of Sweetened Beverages. <http://www.abs.gov.au/AUSSTATS/abs@.nsf/DetailsPage/4364.0.55.0072011-12> (accessed March 2019).
- Australian Bureau of Statistics (2015) 4727.0.55.005. National Aboriginal and Torres Strait Islander Health Survey: Nutrition Results – Foods and Nutrients, 2012–13. Table 4: Proportion of persons consuming foods. <http://www.abs.gov.au/AUSSTATS/abs@.nsf/DetailsPage/4727.0.55.0052012-13> (accessed March 2019).
- Leonard D, Aquino D, Hadgraft N *et al.* (2017) Poor nutrition from first foods: a cross-sectional study of complementary feeding of infants and young children in six remote Aboriginal communities across northern Australia. *Nutr Diet* **74**, 436–445.
- Eades SJ, Read AW, McAullay D *et al.* (2010) Modern and traditional diets for Noongar infants. *J Paediatr Child Health* **46**, 398–403.



25. Ashman AM, Collins CE, Weatherall LJ *et al.* (2016) Dietary intakes and anthropometric measures of Indigenous Australian women and their infants in the Gomeroi gaaynggal cohort. *J Dev Orig Health Dis* **7**, 481–497.
26. Whalan S, Farnbach S, Volk L *et al.* (2017) What do we know about the diets of Aboriginal and Torres Strait Islander peoples in Australia? A systematic literature review. *Aust N Z J Public Health* **41**, 579–584.
27. McArthur M (1948) *Records of the American-Australian Scientific Expedition to Arnhem Land*. Melbourne, VIC: University Press.
28. O'Dea K (1991) Traditional diet and food preferences of Australian Aboriginal hunter-gatherers. *Philos Trans R Soc Lond B* **334**, 233–241.
29. Engeler T, McDonald MA, Miller ME *et al.* (1997) *Review of Current Interventions and Identification of Best Practice Currently Used by Community Based Aboriginal and Torres Strait Islander Health Service Providers in Promoting and Supporting Breastfeeding and Appropriate Infant Nutrition*. Canberra, ACT: Commonwealth of Australia, Department of Health and Family Services, Office for Aboriginal and Torres Strait Islander Health Services.
30. King M, Smith A & Gracey M (2009) Indigenous health part 2: the underlying causes of the health gap. *Lancet* **374**, 76–85.
31. Street J, Cox H, Lopes E *et al.* (2018) Supporting youth well-being with a focus on eating well and being active: views from an Aboriginal community deliberative forum. *Aust N Z J Public Health* **42**, 127–132.
32. Helps C & Barclay L (2015) Aboriginal women in rural Australia; a small study of infant feeding behaviour. *Women Birth* **28**, 129–136.
33. Boulton J (2016) The destruction of food resources at the colonial frontier. In *Aboriginal Children, History and Health: Beyond Social Determinants*, pp. 175–191. London: Routledge.
34. Gracey M (2000) Historical, cultural, political, and social influences on dietary patterns and nutrition in Australian Aboriginal children. *Am J Clin Nutr* **72**, 5 Suppl., 1361S–1367S.
35. Australian Health Ministers' Advisory Council (2017) *Aboriginal and Torres Strait Islander Health Performance Framework 2017 Report*. Canberra, ACT: Commonwealth of Australia.
36. Brown S, Stuart-Butler D, Leane C *et al.* (2019) Initiation and duration of breastfeeding of Aboriginal infants in South Australia. *Women Birth* **32**, e315–e322.
37. Cromie EA, Shepherd CC, Zubrick SR *et al.* (2012) Breastfeeding duration and residential isolation amid aboriginal children in Western Australia. *Nutrients* **4**, 2020–2034.
38. Thurber KA, Banks E & Banwell C (2014) Cohort profile: footprints in time, the Australian Longitudinal Study of Indigenous Children. *Int J Epidemiol* **44**, 789–800.
39. Hewitt B (2012) *The Longitudinal Study of Indigenous Children: Implications of the Study Design for Analysis and Results*. St Lucia, QLD: Institute for Social Science Research.
40. Thurber KA, Olsen A, Guthrie J *et al.* (2018) 'Telling our story... Creating our own history': caregivers' reasons for participating in an Australian longitudinal study of Indigenous children. *Int J Equity Health* **17**, 143.
41. King R & Brown A (2015) *Next Steps for Aboriginal Health Research. Exploring How Research Can Improve the Health and Wellbeing of Aboriginal People in South Australia*. Adelaide, SA: Aboriginal Health Council of South Australia.
42. Mazarello Paes V, Hesketh K, O'Malley C *et al.* (2015) Determinants of sugar-sweetened beverage consumption in young children: a systematic review. *Obes Rev* **16**, 903–913.
43. Bonfiglioli C, Hattersley L & King L (2011) Australian print news media coverage of sweet, non-alcoholic drinks sends mixed health messages. *Aust N Z J Public Health* **35**, 325–330.
44. Oddy WH, Kickett-Tucker C, De Maio J *et al.* (2008) The association of infant feeding with parent-reported infections and hospitalisations in the West Australian Aboriginal Child Health Survey. *Aust N Z J Public Health* **32**, 207–215.
45. Conroy DW (2006) Rations for the back country: sensory landscapes. *Kunapipi* **28**, 17.
46. Henryks J & Brimblecombe J (2016) Mapping point-of-purchase influencers of food choice in Australian remote indigenous communities: a review of the literature. *SAGE Open* **6**, 2158244016629183.
47. Thurber KA, Banwell C, Neeman T *et al.* (2017) Understanding barriers to fruit and vegetable intake in the Australian Longitudinal Study of Indigenous Children: a mixed-methods approach. *Public Health Nutr* **20**, 832–847.
48. Bailie RS, Carson BE & McDonald EL (2004) Water supply and sanitation in remote Indigenous communities-priorities for health development. *Aust N Z J Public Health* **28**, 409–414.
49. Jaravani FG, Massey PD, Judd J *et al.* (2016) Closing the gap: the need to consider perceptions about drinking water in rural Aboriginal communities in NSW, Australia. *Public Health Res Pract* **26**, e2621616.
50. Smith R (2018) Northern territory July to December 2017. *Aust J Polit Hist* **64**, 355–361.
51. Dimitropoulos Y, Gunasekera H, Blinkhorn A *et al.* (2018) A collaboration with local aboriginal communities in rural New South Wales, Australia to determine the oral health needs of their children and develop a community-owned oral health promotion program. *Rural Remote Health* **18**, 4453.
52. Sarkar A, Hanrahan M & Hudson A (2015) Water insecurity in Canadian Indigenous communities: some inconvenient truths. *Rural Remote Health* **15**, 3354.
53. Yuen E (2005) Water consumption patterns in Australian Aboriginal communities. PhD Thesis, Murdoch University.
54. Jiménez A, Cortobius M & Kjellén M (2014) Water, sanitation and hygiene and indigenous peoples: a review of the literature. *Water Int* **39**, 277–293.
55. Oral Health Services Central District (2008) *Indigenous 'Water Sipper Bottle' Oral Health Promotion Program 2008 Evaluation Report*. Rockhampton, QLD: Queensland Health.
56. Thurber K, Bagheri N & Banwell C (2014) Social determinants of sugar-sweetened beverage consumption in the Longitudinal Study of Indigenous Children. *Fam Matters* **95**, 51–61.
57. Walker SP, Wachs TD, Grantham-McGregor S *et al.* (2011) Inequality in early childhood: risk and protective factors for early child development. *Lancet* **378**, 1325–1338.
58. Raj VK & Plichta SB (1998) The role of social support in breastfeeding promotion: a literature review. *J Hum Lact* **14**, 41–45.
59. Brown A (2014) Maternal trait personality and breastfeeding duration: the importance of confidence and social support. *J Adv Nurs* **70**, 587–598.
60. Helps C (2014) *Exploring Infant Feeding Choices in the Northern NSW Aboriginal Community. Final Report*. Gladesteville, NSW: Health Education and Training Institute, Northern NSW Local Health District.
61. Chung A, Peeters A, Gearon E *et al.* (2018) Contribution of discretionary food and drink consumption to socioeconomic inequalities in children's weight: prospective study of Australian children. *Int J Epidemiol* **47**, 820–828.
62. Love P, Whelan J, Bell C *et al.* (2018) Healthy diets in rural Victoria – cheaper than unhealthy alternatives, yet unaffordable. *Int J Environ Res Public Health* **15**, 2469.
63. Josif CM, Kruske S, Kildea SV *et al.* (2017) The quality of health services provided to remote dwelling aboriginal infants in the top end of northern Australia following health system changes: a qualitative analysis. *BMC Pediatr* **17**, 93.



64. Murrup-Stewart C, Searle AK, Jobson L *et al.* (2019) Aboriginal perceptions of social and emotional wellbeing programs: a systematic review of literature assessing social and emotional wellbeing programs for Aboriginal and Torres Strait Islander Australians perspectives. *Aust Psychol* **54**, 171–186.
65. Kemp L, Grace R, Comino E *et al.* (2018) The effectiveness of a sustained nurse home visiting intervention for Aboriginal infants compared with non-Aboriginal infants and with Aboriginal infants receiving usual child health care: a quasi-experimental trial – the Bulundidi Gudaga study. *BMC Health Serv Res* **18**, 599.
66. Nguyen H, Zarnowiecki D, Segal L *et al.* (2018) Feasibility of implementing infant home visiting in a Central Australian Aboriginal community. *Prev Sci* **19**, 966–976.
67. Zarnowiecki D, Nguyen H, Hampton C *et al.* (2018) The Australian Nurse–Family Partnership Program for aboriginal mothers and babies: describing client complexity and implications for program delivery. *Midwifery* **65**, 72–81.
68. Gilchrist D, Woods B, Binns CW *et al.* (2004) Aboriginal mothers, breastfeeding and smoking. *Aust N Z J Public Health* **28**, 225–228.
69. Amir LH & Donath SM (2002) Does maternal smoking have a negative physiological effect on breastfeeding? The epidemiological evidence. *Birth* **29**, 112–123.
70. Thomas DP, Briggs V, Anderson IP *et al.* (2008) The social determinants of being an Indigenous non-smoker. *Aust N Z J Public Health* **32**, 110–116.
71. Nafstad P, Jaakkola J, Hagen J *et al.* (1996) Breastfeeding, maternal smoking and lower respiratory tract infections. *Eur Respir J* **9**, 2623–2629.
72. Dorea JG (2007) Maternal smoking and infant feeding: breastfeeding is better and safer. *Matern Child Health J* **11**, 287–291.
73. Bourke S, Wright A, Guthrie J *et al.* (2018) Evidence review of indigenous culture for health and wellbeing. *Int J Health Wellness Soc* **8**, 11–27.
74. Gifford J, Gwynn J, Hardy L *et al.* (2018) Review of short-form questions for the evaluation of a diet, physical activity, and sedentary behaviour intervention in a community program targeting vulnerable Australian children. *Children (Basel)* **5**, 95.
75. Heyman MB & Abrams SA (2017) Fruit juice in infants, children, and adolescents: current recommendations. *Pediatrics* **139**, e20170967.
76. Özer BH & Kirmaci HA (2010) Functional milks and dairy beverages. *Int J Dairy Technol* **63**, 1–15.
77. Alsharairi NA & Somerset S (2018) Parental work status and children's dietary consumption: Australian evidence. *Int J Consum Stud* **42**, 522–532.
78. Cheng ER, Taveras EM & Hawkins SS (2018) Paternal acculturation and maternal health behaviors: influence of father's ethnicity and place of birth. *J Womens Health (Larchmt)* **27**, 724–732.
79. Althouse AD (2016) Adjust for multiple comparisons? It's not that simple. *Ann Thorac Surg* **101**, 1644–1645.
80. Mealing NM, Banks E, Jorm LR *et al.* (2010) Investigation of relative risk estimates from studies of the same population with contrasting response rates and designs. *BMC Med Res Methodol* **10**, 26.
81. Boffetta P (2011) Internal and external validity of cohort studies. *Ann Agric Environ Med* **18**, 283–284.
82. Geserick M, Vogel M, Gausche R *et al.* (2018) Acceleration of BMI in early childhood and risk of sustained obesity. *N Engl J Med* **379**, 1303–1312.
83. Thurber KA (2016) *Growing Up Strong: Pathways to Healthy Body Mass Index in the Longitudinal Study of Indigenous Children*. Canberra, ACT: National Centre for Epidemiology and Population Health, The Australian National University; available at <http://hdl.handle.net/1885/119248>
84. Ritte R, Panozzo S, Johnston L *et al.* (2016) An Australian model of the First 1000 Days: an Indigenous-led process to turn an international initiative into an early-life strategy benefiting indigenous families. *Glob Health Epidemiol Genom* **1**, e11.
85. Arabena K (2014) The First 1000 Days: catalysing equity outcomes for Aboriginal and Torres Strait Islander Children. *Med J Aust* **200**, 442.
86. Australian Institute of Health and Welfare (2018) *Nutrition Across the Life Stages*. Catalogue no. PHE 227. Canberra, ACT: AIHW.
87. Laitala M-L, Vehkalahti MM & Virtanen JI (2018) Frequent consumption of sugar-sweetened beverages and sweets starts at early age. *Acta Odontol Scand* **76**, 105–110.
88. Jaime PC, Prado RRD & Malta DC (2017) Family influence on the consumption of sugary drinks by children under two years old. *Rev Saude Publica* **51**, Suppl. 1, 13S.